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SN EB.O(EN) - NPEAY - BES oy Shitr bl D= 2

& 4, 000]
Fa=a 2 70, 000 50, 000 20, 000
307 2I2toI A 70, 000 50, 000 20, 000
04 OQIZFSHAIE = 70, 000 50, 000 20, 000

Osa=4y 29 70, 000
A2 S AL XI&A 22,000 19, 000 3, 000
308 AXHHMSOIH 22,000 19, 000 3,000
01 AXNHHBAEEZ 22,000 19, 000 3, 000

OWg=2tIE8e At XA 10, 000, 000 *11Al 2 *20% = 22,000

= 22, 000]
XS A 843t 43, 500 45,717 A2, 217
HE=XgR =8 &= 9, 000 7,500 1,500
202 04| 9, 000 7,500 1,500
01 3LWHObI 9, 000 7,500 1,500

OWd=EXNg: = 9,000
HEXHASAALHE XA 4,500 4,500 0
301 Lot A= 4,500 4, 500 0
10 SARHIZEAS 4,500 4,500 0

OWE XS AR E 5, 0002 *600Y = 3,000

OWE XS AR E 1,500
NAHLX2Es 30, 000 24, 333 5, 667
308 AXIHHMSO0IA 30, 000 24, 333 5, 667
01 AXHHBANEEZ 30, 000 24,333 5, 667

O & X3S AR 1,000, 000&*8Al 2 = 8, 000

8, 000]

Ot EsEZ2 Y 4,000, 0002 *3Al 2 = 12, 000

12, 000]

O &3S AL At==Ef 10, 000
GHEAMSIEH = 796, 040 1,654,993 A 858,953
HEMIEH RE 6, 040 2,200 3, 840
201 ZEt2F| 6, 040 2,200 3, 840
01 AtR2teldl 6, 040 2,200 3, 840




pJEFE N
Sahje o =X 25 ®
SANSIHN = (S MR
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
OSEHdNRIUS HAE = 2,200
OWds|YLHXEE HH+E 3,840
OdAtzlns X 17,500 26, 500 A9, 000
301 LELEAS 1,500 10, 500 A9, 000
10 #AIABIEdS 1,500 10, 500 A9, 000
O&=04dUz &t 24 = 1,500
308 X EHHMSOIA 16, 000 16, 000 0
01 MAEHIdEx= 16, 000 16, 000
OWdAtzl sz 8 29
2,000, 0003 * 16790 Al 2 *50% = 16, 000
e X& 15,000 15,000
307 @lz2tol & 15,000 15, 000 0
04 BIZHHAE X 15,000 15, 000 0
Osddatit=stal = 15, 000
OdelsEiigy X 500, 000 461, 293 38, 707
308 AXIEHMSOIH 500, 000 461, 293 38, 707
01 MAEHIdEx= 500, 000 461, 293 38, 707
O4EEIEHH 29 166, 666, 6003 *3IH A = 500, 000
[= 443, 000]
(& 57, 000]
NS G2 ds A2 80, 000 80, 000
307 2I2told 80, 000 80, 000
02 Q23d=Ex 80, 000 80, 000
OUdoHAE Heads NE = 80, 000
[= 40, 000]
== 40, 000]
Hdxgsd|a HAE X2 142, 500 0 142, 500
308 KHAIEH S 142, 500 0 142, 500
01 XrXIE 2x= 142, 500 0 142, 500
OXgEe & FHBEHA 22|
255, 000, 000& x50% = 127,500
[= 127, 500]
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pIEF kRN
sl o =X 28 ®
QMBS 9 ofe cHel:

H-22-e2i(8) - NRAY - BaS 0f) &+ o Shitr HDS2
[= 23, 758]
== 11,879]
ONE=LIoi N ESAIE 2ZH N
282,178, 0003 #85% = 239,852
[= 198, 156]
(& 41, 696]
OWd=eZHHAAE SMHNISE 28,000, 0003 *75% = 21,000
[= 14, 000]
== 7,000]
ONWESXAIESAIR XM MABI(XEH) 33,720
—dEAIE 8,160
- 38 0lgt 100, 000& * 13+ 12 x20% = 3,120
- 38 0l&~54 OI2t 150, 000 »8H x12& x20% = 2,880
- 5E 0l&f 180, 0002 5 *12E +20% = 2,160
-01EA4 25, 560
- 3@ 0/gt 90, 000 *64F x12& x20% = 13, 824
- 38 0laf~5 012t 120, 0003 »228 12 x20% = 6, 336
- 5 0l&t 150, 000& * 15«12 x20% = 5,400
403 XIS SA=01H 270, 450 208, 450
01 MXEMA2EX 270, 450 208, 450
ONEEZHIUNAESAE JIsE2S
72,120, 000& 51 2+ 75% = 270, 450
[= 180, 300]
== 90, 150]
HZE dE"HIda =L HELXASE 180, 853 282, 000 A101, 147
308 AHXHHMSOIH 180, 853 282,000 A101,147
01 MAEHIdExL=S 180, 853 282,000 101,147
Ot =52 ndIE At
87, 175, 000& «85% = 74,099
(21 61, 023]
== 13, 076]
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SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
ONs- 4 oAt XIZ2sls T2
113, 592, 000& *85% = 96, 554
79, 515]
T 17, 039]
ONs- 4 orM &Yl X
300, 000& *34M & = 10, 200
AONORIIGH KE 2 E X2 ArS 35, 445 86, 000 A B0, 555
308 XXM S 35, 445 86, 000 A 50, 555
01 XEXIEHH 35, 445 86, 000 AB0, 555
O&OHOHTIGH A+ =X 41, 700, 0002 *85% = 35, 445
= 29, 190]
T 6, 255]
SOIHOIHHEES 286, 077 327, 327 A4, 250
308 XX &S0l 275,727 275,727 0
01 AtXIEHA 275,727 275,727 0
O4d DH O LI oH X+XI 202, 861, 000& *85% = 172, 432
= 142, 003]
T 30, 429]
O4d DH 0K 1L| o 102, 600, 000& *75% = 76, 950
= 51, 300]
= 25, 650]
OA DHOR Il o Xk 2 30, 994, 000& *85% = 26, 345
= 21, 696]
[ 4, 649]
403 XX EHHIS 10, 350 51,600 A4, 250
01 XXHXNA=2EEX 10, 350 51, 600 A 41,250
OHADHOHIIH R KIZAE JISsE2
13, 800, 0002 *75% = 10, 350
= 6, 900]
& 3, 450]
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ErelOlA0IAES I o (cro: @2
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
ZS0HHE FHX ALY 25, 000 0 25, 000

403 XX SHHSA=01H 25, 000 0 25, 000
01 XXISHXMAELX 25,000 0 25,000
OZgnaie =AHXE 50, 000, 000& *50% = 25,000
(=2 25, 000]
A EOHCIALSI & O & CH AT & 70, 000 50, 000 20, 000
307 2I2t0| A 70,000 50, 000 20, 000
02 QIZHAAMNSE =X 70, 000 50, 000 20, 000
OW&ZOHRI At &0 =0 XA
10, 000, O00R& *7IH & = 70, 000
(=2 35, 000]
= 35, 000]
Crekst Jb=0ll CHst XI& 6, 569, 576 2, 898, 589 3,670,987
NEXNHLR =8 S 9, 000 7,500 1,500
202 (48l 9, 000 7,500 1, 500
01 =2LH0bI 9, 000 7,500 1, 500
ONSFXNELRFE FLHHLI = 9, 000
SUA=XAE 2SN 119, 924 105, 187 14,737
308 AR HMSOIH 119, 924 105, 187 14, 737
01 RXSMBIAEEZ 119,924 105, 187 14,737
00 504, 888, 000& *15% = 75,734
OZN=XRAILE AT NHEEEHZ
2,000, 000& *17H *25% = 8, 500
ONERX ZEMEIIE 2
82, 088, 000& * 1 2 #*25% = 20, 522
OZXN=XAE22L HRIHAI 6, 168
-3¢ 0|t 100, 000 *2H x 12& *20% = 480
-348-~54 150, 000 x5 * 128 20% = 1, 800
54 0|4 180, 000 x99 12& x20% = 3, 888
ORXAESAERE EXsSH|
600, 000& *50% *30% = 9, 000




dsejg o =X 2 &

21: CH2Fst JP=0l Cist X& (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SIREIIIENELSE WU 2,200, 347 1,962,147 238, 200

308 XAXHHMSOIA 2,200, 347 1,962, 147 238, 200
01 AXSHMBAEEF 2,200, 347 1,962,147 238, 200

OstR2IIEMEHL=F- WIHIXA 1,721,223

-AH 2=l 50, 0002 *1, 611H*12& x90% = 869, 940

[= 773, 280]

= 96, 660]

-u=H| 851,283

== 1, 260, 000& *747H x90% = 847,098

(= 752, 976]

= 94, 122]

gst3g 15, 000& *310% *90% = 4,185

(= 3, 720]

[= 465]

OMASE SRS Maortd XIJA(XHA) 479,124

HNASE BRXHE K& 1,277, 880, 0002 *30% = 383, 364

2R Jlsus 319, 200, 000& *30% = 95, 760
SEAE JIsE22 1,073, 250 30, 225 1, 043, 025
403 XIS MS K201 A 1, 073, 250 30, 225 1,043, 025
01 XXHXNA=2EX 1,073, 250 30, 225 1,043, 025

OZX=EXAE JIs2 1,073, 250

s 2 DX 1,431, 000, 000& *75% = 1,073, 250

[= 715, 500]

= 357, 750]
HEZ=0I8IX W= 15, 000 0 15, 000
201 2er2g| 15, 000 0 15, 000
01 AtSR2teldl 15, 000 0 15, 000

Ot=Z0#® 8= Wi + = 15, 000
HAZE0|I2AIE HEIRIIAE KA 300, 000 259, 800 40, 200
308 XAXHHMSOIA 300, 000 199, 800 100, 200
01 AXEHMBAEEF 300, 000 199, 800 100, 200




- SHRA(SA) - NHRAY - B85

=20
M

12Hm

SIOHRIIALSY
1, 000, 000, 000 *30% =

300, 000

456, 000

104, 184

351, 816

456, 000

104, 184

351, 816

H0
02
Pl
o

65, 000, 000& 671 2~*90% =

W

H

456, 000

105, 000

351,000
312, 000]
39, 000]

104, 184

351,816

453, 000

255, 500

197, 500

w

453, 000

255, 500

197, 500

201, 333, 000& 3 2=+ 75% =

H

H

453, 000

453, 000
302, 000]
151, 000]

255, 500

197, 500

353, 600

174, 046

179, 554

353, 600

174, 046

179, 554

104, 000, 000& *4J{ A= *85% =

353, 600
353, 600
291, 100]
62, 500]

174, 046

179, 554

1,282,055

1,282,055

1,282,055

1,282,055

0ot MUlA K&

101, 660, 000%5IH 2 +85% =

1,282,055

432, 055
355, 810]
76, 245]

1,282,055




SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
OZE0I2RIISE OtsLFRHAAS
100, 000, 0002 * 10 A *85% = 850, 000
(= 700, 000]
= 150, 000]
SOOI B OtsS L XA 229, 000 0 229, 000
308 XMXHMSOIA 229, 000 0 229, 000
01 RXNSMIAESEZ 229, 000 0 229, 000
OZOHOIE OtsL XA A
114, 500, 000& *2I 2 *100% = 229, 000
(= 229, 000]
F0FAHN2F 78, 400 0 78, 400
308 XX HMSOIA 78, 400 0 78, 400
01 RXSMIAESEZ 78, 400 0 78, 400
OF0tsAHL 28X = 78, 400
[= 78, 400]
HAR0t EFAHIA D8 &5 100, 384, 541 78, 307, 426 22,077,115
ESHMRAG 2F 7,200 5, 000 2,200
201 et | 2,200 2,200 0
01 AtR2teldl 2, 200 2,200 0
OEsdMARS 2H=+Y = 2,200
203 E R =&l 5, 000 2, 800 2,200
03 AIMFAHRFZIHI 5,000 2,800 2,200
OHHEOtES= XA FA = 5, 000
ESIIAYR =M S 9, 000 7,500 1, 500
202 48l 9,000 7,500 1,500
01 =LHObI 9, 000 7,500 1,500
OESANALRFA = 9, 000
20 dA K& 20, 000 20, 000 0
307 2I2t0l A 20, 000 20, 000 0
04 CIZFHALE = 20, 000 20, 000 0
OSEEsTY & @At = 15, 000
OR+=EsuM w7 &2 HIt U3 = 5, 000

_10_




SN OIS Al
ZH - — =
B olgs e o =X 2 XM
ol R0L BEAHIA I8 SHE (Erol: M2

SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Heloleldersa 29 250, 000 250, 000
307 2I2tol A 250, 000 250, 000 0
05 QIZtREZ 250, 000 250, 000 0
Oooeoldssd 29 = 250, 000
2] SEFAIMAMY X3 2,972,213 2,036, 835 935, 378
308 XMXHMSOIA 2,972,213 2,021,835 950, 378
01 RXNSMIAESEZ 2,972,213 2,021,835 950, 378
OMASE R0t 24 Hl XA
500& %23, 3718 2502 *30% = 876,413
Q&S E=2Z KA 46, 440
BFuA =Y 50, 0002 x 195+ 12& x20% = 23, 400
-AE 22l 300, 0002 320 A+ 128 x20% = 23, 040
OE+=EsSAE23 A&
300, 000 *500H 2=+ 128 *20% = 36, 000
OWEZE012AHE 70t RA4EEE X
160, 000& %1, 300 * 12& x20% = 499, 200
OEsSFd2gdl N& 500, 0003 201 A*123 *30% = 3, 600
OEBSANESAMA MM
100, 0002 %6, 294H 128 x20% = 1,510, 560
EEESIENH 29 200, 000 151, 000 49, 000
307 2I2tol A 200, 000 151, 000 49, 000
05 QIZtREZ 200, 000 151, 000 49, 000
O=EEHESZEHH 29 = 200, 000
(=2 125, 000]
== 75, 000]
SEFSANESAMLY EFN=s 80, 000 87, 686 AT, 686
307 2I2tol A 80, 000 87, 686 AT,686
05 QIZtRIEZ 80, 000 87, 686 A7, 686
OBSANESMN ExN= = 80, 000
(=2 80, 000]




S OlA ISR BB
BauGASelY 9 =X 2E
S HR0F EFMEIA DB SE (e & 3)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SRAIE SALRRI A H| 27,705, 224 23, 452, 349 4,252,875
308 XAXHHMSOIA 27,705, 224 23, 452, 349 4,252,875
01 AXSHMBAEEF 27,705, 224 23, 452, 349 4,252,875
OESAE SAA 1Al 39, 501, 748, 000& *70% = 27,651, 224
[= 19, 750, 874]
= 7,900, 350]
OUMES AL 124 XI&(XHAI) = 54,000
S=SAE W 720, 985 591, 299 129, 686
308 XX HMSOIA 720, 985 591, 299 129, 686
01 RXSMIAESEZ 720, 985 591, 299 129, 686
OLUAEFAIE W] 951, 000, 000& *70% = 665, 700
[= 475, 500]
= 190, 200]
O=38- gol W4l XI2(KHA)
55, 285, 000& = 55, 285
SRAE 2SI 1,706, 040 676, 409 1, 029, 631
308 KX HHMSOIA 1,706, 040 676, 409 1,029, 631
01 XXHMBAEEZ 1, 706, 040 676, 409 1,029, 631
OxXt2g| 2,437,200, 000& *70% = 1,706, 040
(=2 1,218, 600]
= 487, 440]
QI2IAOP) |22 X2 8,643,172 4,863, 529 3,779,643
308 AXHHMSOIA 8,643,172 4,863, 529 3, 779, 643
01 AXNHHBAEXES 8,643,172 4, 863, 529 3,779,643
ORIZIAIEZE oI 28 X232 12, 347, 388, 000& *70% = 8,643,172
(=2 6, 173, 694]
= 2, 469, 478]
2RO |I28X3 5, 548, 950 0 5, 548, 950
308 AXHMSOIH 5, 548, 950 0 5, 548, 950
01 XXSHMIAEBEXZ 5, 548, 950 0 5, 548, 950
OeItFOI2EX3 11, 097, 900, 000& *50% = 5, 548, 950
[= 5, 548, 950]
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SO AN EE M
M HEdsENE 2 =X g5 &8N
ol 20t BEMUIA J|Y BE (crof: A
SN - FE-S(S) - NRAY - B Ol &+ Shitr BlRE2
IHSESZXJAAS 32,712, 755 28, 164, 907 4,547,848
308 AXIHHS0IA 32,712,755 28, 164, 907 4,547,848
01 AXNHHBAEX= 32,712, 755 28, 164, 907 4,547,848
OXNS(MASS)ESS XS 46,548,906, 0002 *70% = 32, 584, 235
(= 23, 274, 453]
= 9, 309, 782]
ORIZIESAIE HEHA HHEEZ K3 (XA
) 20, 000& *1, 785 »12& »30% = 128, 520
H5NIOtR A 2SS X & 9,817,038 9,851,173 AN 34,135
308 AXIHHSO0IA 9,817,038 9,851,173 A 34,135
01 XXNEHBLEELS 9,817,038 9,851,173 A 34,135
OBt 5Ml Ols R4& 2= 14, 024, 340, 000& *70% = 9,817,038
(= 7,012, 170]
= 2,804, 868]
ZOotRAESS X 1,937,376 1,973, 365 A 35,989
308 AXISHHMSOIA 1,937,376 1,973, 365 A 35,989
01 AUXNHHBAEEZ 1,937,376 1,973, 365 A 35,989
OFot R ESE 2, 767,680, 000& *70% = 1,937,376
(= 1, 383, 840]
== 553, 536]
ShHoA sz K& 3,393, 445 1,327,051 2, 066, 394
308 AXIHHMSO0IA 3, 393, 445 1,327,051 2, 066, 394
01 AXHHBANEEZ 3,393,445 1,327,051 2, 066, 394
OFXH ol E2E=sm 4,847,778, 000& *70% = 3,393,445
(= 2,423, 889]
== 969, 556]
A0t RaEE= XNH 249,198 66, 625 182, 573
308 XX HHMSOIN 249, 198 66, 625 182, 573
01 AUXHHBANEES 249,198 66, 625 182, 573
OO0t RAE=EE = 249,198
(2 249, 198]
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OOl E R A
HdsEY 2 =X 23 b
(HR0t EFSMUIA J|BF &= (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SESAEEIISXE 548, 490 289, 800 258, 690
308 XAXHHMSOIA 548, 490 289, 800 258, 690
01 XXHMBAEXEFZ 548, 490 289, 800 258, 690
OBSAE BItels X& 500, 000& =1, 490 x70% = 521, 500
(=2 372, 500]
== 149, 000]
OBSANEEIE 202 X JA(XHA) 26, 990
2121 0| et 250, 0002 #3867 2 *10% = 9, 650
212! Ol & 300, 000& *578IH 2 *10% = 17, 340
E2SANE &5 2,720, 045 3, 502, 650 AT782,605
403 XX SHHSA=01H 2,720, 045 3, 502, 650 AT82,605
01 XXISHXMAELX 2,720, 045 3, 502, 650 AT782,605
o= 8 Ald d= 2,976, 350, 000& *70% = 2,083, 445
(=2 2,083, 445]
OdlAZSSF= |22 S 1,273,200, 0002 *50% = 636, 600
(= 636, 600]
ESFAE SFd 1,143,410 990, 248 153, 162
403 XX SHHSA=01H 1,143,410 990, 248 153, 162
01 XXSHXA=2EX 1,143,410 990, 248 153, 162
OESAE &8 N 2, 286, 820, 000& *50% = 1,143,410
[= 1,143, 410]
HE2ALUI(HAHIII ST H2A) 16, 680 15, 430 1, 250
IHE2AEG(OEIISH 2 A) 10, 200 8, 400 1,800
QIA2YH(HEII =Y 2 A) 10, 200 8, 400 1,800
203 LR F=&H| 10, 200 8, 400 1,800
01 J|I22Z 2= 6, 000 4, 200 1,800
(OF<ESEry = 6, 000
04 BEABIYEF=EUI 4,200 4,200 0
OWdEHaa = 4,200
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